O Al Yo Y Sluat 3 S0 BT 3 PIUS 3 (59 9 45 i yl5 00 s Jleo

o (e 510 (i (50 slowi (515 90 TR ) 510 51 93 (B 5B (3999 90 Cun
39l (939 SHINRL (g g Bolai 41y Bk 40 992 90 SO, 5T

IS (Aol ooyl 43 ) W (g ¥ 51 Jud £ g F 51 b F a5 (3T Jlosist

Sl




G—‘br!p—eﬁm6“;,‘}4‘@@‘?},.’&,4&@'3‘J-?O')

)

P=— 2w ghlao

("}(v! Yo x AX A ¥V Jo ol
P(A) ="




Ty 015 3 i &5 (o gl ol of SISty Cunw o9y Jloit plus b2 Jlo
Jomn 931 STt 90 ¢ pomd ) S50 ¥ 0 30 b Gl gt F 31 €3 90 0
(99 )0 6%

tJ>

I

ollao sbapdy ={1,7,7,7,4} = P(A)=—




39 1 31 554 90 G W gl 59y AT Jloi! o3 5 (0 585 30 15 43 n 2 Sl
Sl g ¢ oild (5395 170 Jlw 3 sy 595y

tJo

YSOXYSFX..(YSO—n+))

P(A) =

veol




